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30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,32
20T < 0,250,44

Lg=63cd/n?
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Y=

TUB-test chart TE59; threshold daaramopolos (89)
tp=0,1s, 4 observers, average, E-A2-fit, 63&d/m
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http://130.149.60.45/~farbmetnk/ TE59/TES9LONP.PDF /.PS; Start output
N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 9/9

L/AL luminance contrast

sensitivity threshold ~ -976:33%/ nf

4071 y
0,40KR 0,1s A

0 34
30+ Y 0,45 0,47 average
0,15 0,19
0,58
20T < 0,25

TES90-1N_9

L/AL luminance contrast

sensitivity threshold  Lg=6:30dm?

4071 y
0,40BM 0,1s A

0 34
30+ Y 0,45 0,47 average
0,15 0,19
0,58
20T < 0,25

TE590-3N_9
L/AL luminance contrast
sensitivny threshold
40T y =L/AL
034040KR015Y
30+ Y 0,45 0,47 average
0,15 0,19
0,58
20T = 0,25

Lg=6,3cd/n?

TE590-5N_9
L/AL luminance contrast
sensitivny threshold
40T y =L/AL
0 34 0,40 PO 0,1s B
30+ Y 0,45 0,47 average
0,15 0, 19
0,58 0,3
20T 0,250

Lg=6,3cd/n?

,44

TE590-7N

L/AL luminance contrast
sensitivity threshold

4071

30 -

201

Lg=6 3d/n?

L/AL luminance contrast
sensitivity threshold

407
/40 AD 0,15 A

30+ g average

201

L/AL Iuminance contrast
sensitivity threshold

4071

30 -

201

Lg=6.3cd/nf
=L/AL

L/AL Iuminance contrast
sensitivity threshold

4071

30 -

201

Lg=6.3cd/nf
=L/AL

TE590-8N_9

L/AL luminance contrast
sensitivity threshold
40T y =L/AL
,40BM 0,1s R
/47 average
9

Lg=6,3cd/nf

30--

20T

TE591-1N_9

L/AL luminance contrast
sensitivity threshold
40T X Y =L/AL

0,34 0,40 AD 0,1s G
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,3
20T © 0,250,4

Lg=6.3cd/nf

, 2
4

TES591-3N_9

L/AL luminance contrast

sensmwty threshold  Lg=8:3cd?

407
0.340

Y 0450
30T o150
0,58 0

201 0250

,40 AD 0,1s A,B
/47 average

,19
3
4

1

2
4

L/AL Iuminance contrast
sensitivity threshold
4071 y =L/AL
,40 AD 0,1s A,G
/47 average

Lg=6.3cd/nf

30--

20T

L/AL luminance contrast
sensitivity threshold

4071 y
,40 AD 0,1s R

30+ /47 average

20T

L/AL luminance contrast
sensitivity threshold

4071 y
40 AD 0,1s A)Y

1l /A7 average
30 19

4
3
20T 4.

Lg=6.3cd/nf

TES591-4N_9

L/AL luminance contrast
senS|t|V|ty threshold

4071 y
0 34 0,40 AD 0,1s AR
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,32
20T < 0,250,44

Lg=6.3cd/nf
“LiAL

TES591-6N_9

L/AL luminance contrast
sensmvny threshold

4071 y
0 34 0,40KR 0,1s A)Y
30+ Y 0,45 0,47 average
0,15 0,19
0,58 0,32
20T < 0,250,44
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Y=

TUB-test chart TE59; threshold da&aramopolos (89)

input: W/r b/cmyk —>r
tp=0,1s, 4 observers, average, E-A2-fit, 6,3&d/m N 3 y 9




